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MATHEMATICS Class — X

Time allowed : 3 hours Maximum Marks : 90

General Instructions : a

(i) = All questions are compulsory. -

(ii) The question paper consists of 34 questions divided into four sections A, B, C and D. Section-A
comprises of 8 questions of 1 mark each, Section-B comprises of 6 questions of 2 marks each,
Section-C comprises of 10 questions of 3 marks each and Section-D comprises of 10 questions
of 4 marks each.

(iii) Question numbers 1 to 8 in Section-A are multiple choice questions where you are to select
one correct option out of the given four.

(iv) There is no overall choice.

(v) Use of calculator is not permitted.

SECTION-A

Question numbers 1 to 8 carry one mark each. For each question, fouralternative choices have been
provided of which only one is correct. You have to select the corfect choice.

* The next term of the sequence V3, V12, /27, ..... ist 1
@ 48 (b)  io8 R Ve G (d) 72
2 In the figure, if £ AOB=125’, then £ CODiisqual to : . 1

D
) 625% .I (B 55
© 4 (D) 35
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To divide a line segment PQ internally in the ratio 3 : 7, first PX is drawn so that ZQPX is an
acute angle and then points at equal distances are marke

d on ray PX such that minimum
number of these points is: * . '

@9 Ly 10 () 11 (@7
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4 A person walking along a straight road towards a hill obserﬂves at two points, d!st:rmce Jé km apart,
the angles of elevation of the top of the hill to be 30 and 60°. The height of the hillis :
3 2
(a) 5 km (b) J; km
P L e @ 3 km
2
5 A bag contains three green marbles, four blue marbles and two orange marbles. If a marble is picked 1
at random, then the probability that it is not an orange marble is :
i 2 1 4 ) 7
- ~ Bt 0 A et
(a) n (b) (c) 5 3
& An arrow pointer is spinned which is placed on a fixed circular plate with numbers from 1 to 15 1

marked on it at equal distances. |f the pointer is equally likely to rest, atany number, then what is the
probability that it will restat a multiple of 3 ?

4 1 1
@ 3 o = ©  amn @ -3
4 If the thre-e- vertices of an equilateral trianglé are (0,0), (3, J3 )and (0, x), then the value of x is 1
& 23 | | (B) 33
€ . 32 _ D) 3
8 Perimeter of a semicircular region of radius ris : : 1
(a) 2nr (b) nr (c) 2nr+2r (d) 21
SECTION-B
Question numhérs 9 to 14 carry two marks each.
9 Solve for x : X2-px+pg-gx=0 . =2
10 If x=2 and x=3 are solutions of the equation 3x2-2mx+2n=0, then find the values of m and n. 2

n If a letter is chosen at random from the English alphabets find the probability that the letteris: 2
(a) A vowel (b) ° A consonant

2z AB and CD are common targents to two circles which touch each other at D as shown in the 2
¢

figure. If AB=6 cm, find CD.
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13 An integer is chosen from ~10 to 10. Find the probability that the integer so chosen is divisible 2
by 3.

A4, Find the area of sector of a circle whose radilus is 6 cm and the length of thecorresponding arc is 12 2
cm.

SECTION-C
Question numbers 15 to 24 carry three marks each,

s The sum of first 7 terms of an AP is 10 and that of next 7 terms is 17. Find the progression. 3

AR The perimeter of a rectangular plot is 62 m and its area 228 sq m. Find the dimension of the plot. 3

47 The perimeter of AABC is 12 ¢cm and its sides are’in the ratio 3: 4 : 5. Draw the AABC, then construct 3
another triangle A'BC' similar to AABC such that BCI:% BC.

18 The angles of elevation ©f the' top of a tower from two points at distances 3
10 metres and 5 metres from the base of the tower and in the same straight linerwith it are
complementary. Find thé height of the tower.

19 If (1, 5), (p, 1) and (4, 11) are collinear, find the value of p. 3

20. Find the point on the x-axis, which is equidistant from (3,-5) and (-3, 8). g A0 3

21 A table in '@ restaurant -has a top of the shape as shown in the figure, where ZAOD=120° and 3

OA=0B=0C=0D=60 cm.

B

\

Find the perimeter of the top of t%e table. (Take n=l3'14}.
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27 Using paper-mache, a student made a right circular hollow cone of height 15 cm and radius of base 8 3
: cm. He then has to paint this cone from outside and inside both. What is the total surface area that

has to be painted ? -

73 The radii of two circles are 19 cm and 9 cm. Find the radius of the circle which has circumference equal 3
to the sum of the circumferences of the two circles.

24 A solid metallic ball has diameter 10 cm. Find the mass of the ball, if the density of the metalis21g 3

per cm?,

SECTION-D
Question numbers 25 to 34 carry four marks each.

2y Determ.ine the positive value of p so that the equations x2+px+64=0 and x%-8x+p=0 will both havereal 4
roots.

Find the sum of first 30 terms of an AP whose nt term is 24 %—n

27 A uniform border on a framed photogra'ph has the samé area as the photograph. Wha;ﬂthe‘outﬁd’e 4
dimensions of the border if the dimensions of the photographrare 25 cm by 20 cm ?

28 f PA and PB are two tangents drawn to a circle with centre O such that ZBPA'-—-HO(;ﬂ;;Egve that_ 4
OP=2PB. it

29 - Construct a triangle similar toAABC whose sides are 2.5 times that of given AABC
" AABC has sides 3 cm, 5 cmand 6 em.

30 A 2 m tall boy is standing at some distance from a 29 m tall building. The angle of elévatiq'
from his eyes of the top of the building increases from 30" to 60° as the walks towards th
building. Find the distance he walked towards the building.

3 17 cards numbered 1, 2, 3, ...... , 16, 17 are put in a box and mixed thoroughly. One perso'ﬁ A
draws a catdfrom the box. Find the probability that the number on the card is :

A)0dd B) A prime C) Divisible by 3 D) Divisible by 3and 2both -

32 ABCD is ° a quadrilateral formed by joining the poﬁnts A(-4, -2),
B(-3, -5), C(3, -2) and D(2, 3), in an order. P, Q, R and S are the mid-points of sides AB, BC,
- CD and DA respectively. Is the quadrilateral PQRS a parallelogram ?

33 Ramu rides a bicycle having a poster “SAVE EARTH”. His bicycle makes 5000 revolutions in 4
moving 11 km. Find diameter of the wheel. What value is depicted by Ramu ?

' :
34 Water is flowing at the rate of 5 km per hour through a pipe of diameter 14 cm into a 4

rectangular tank which is 25 m long and 22 m wide. Find the time in which the level of water
in the tank will rise by 30 cm. ' :
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